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11 | 12 13114 1516 | 17 | 18
Na | Mg Al| Si| P | S | Cl| Ar
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K|Ca|Sc|Ti|V |Cr| Mn|Fe|Co|Ni|[Cu|Zn|Ga|Ge|As| Se | Br | Kr
39.1(40.1(45.0147.9/50.9(52.0|54.9|55.8(58.9|58.7|63.5(65.4169.7|72.6|74.9/79.0|79.9|83.8

log2=0.301 ~ log3=0.477 ~ V/2=1.414 ~ \/3=1.732
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3. Suppose the rules for assigning quantum numbers were as follows:

n=1, 2,3, ...
=0,1,2,...,n
m=0,1,2,...,/+1
=+ 1or— ]

2 2

State the values of /, m, s for the electrons when n=1 and n=2. Give the electron configuration for an atom

with twelve electrons. (3 4 )
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